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Sydney Girls High School
Mathematics Department

3 Unit Mathematics — Preliminary Course
Topic Test — Geometry

Time Allowed: 75 minutes Total: 571.

Instructions:
¢ All'answers are to be handed in on your own paper.
Full marks may not be awarded for careless or incomplete work.
Proofs must be set out clearly.
Diagrams should be done in pencil and using a ruler.
The marks allocated for each question are given.

e o o e

Question 1:
In each of the questions below, find the value of the pronumerals, giving reasons.

a)

b)
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Question 2:

Line CE bisects £BCD . Find the value of y, giving reasons.
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Question 3:

ABCD is a parallelogram with CD produced to E. Prove that A4BFI|||ACEB.

Question 4:

O is the centre of the circle. ABCDisa square. -Find the shaded area below, to 1
decimal place.

Question 5:

D and E are the midpoints, respectively, of sides AB, AC of a triangle. DE is
produced to F, so that DE = EF. Show that BDFC is a parallelogram.
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Question 6:

Findx andy.

3
Question 7
A
ABCD is a thombus. &
X AX is perpendicular to BC
and intersects BD at L.
D C
i. State why_ /ADB = ZCDB. |
ii. Prove ABE=ACLD. = 3
iii. Show, giving reasons, that ZDAL=90°. 2
iv. Hence or otherwise find the size of ZLCD. |
Question 8:
ABCDE is a regular pentagon and AB and DC produced meet at X. The point ¥
lies on DCX produced.
A (i) Find the size of ZABC. 2
(i) Find the size of £ZBXY
E B giving reasons.
D C X Y
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Question 9:

ABC is a triangle. BC is produced to D and BA is produced to Y such that YC
bisects LACD. X lies on BC such that CX = AC.

i Draw a diagram to illustrate the above information. {

ii.  Provethat £AXC = £¥YCD. <

ifi. Prove that A4BX|||ABYC . 3

iv. IfAX =5cm, YC=18 cm and BX =3 cm, find the length of BC.
Question 10:
A regular polygon has interior angles, each of size 165°. How many sides are
there in the polygon? 3

© END OF TEST ©
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